X177 7" 'on X, naw .7"'02

It is understandable according — mpwn 2T KXW Y90 ART INRH RIOIT
to the one who maintains an impure utensil is considered as liquid

Overview

One explanation why 77702 17%12 is because we are concerned perhaps he will
harvest them in baskets which are Xnv and those baskets will make the juice 27wn
that it should be 7°wan the grapes. The &) asked this fits according to the 7" who
maintains that a XY *95 can be 2°wnn the 7pwn to be 1wan (and then Xnwvn) the grapes,
but how will that explanation fit according to the 7" who maintains that a Xav *95
cannot be 2°wnn the npwn to be 7won. >"w1 commented that he does not know where
this dispute is recorded. Noo1n offers a source.

- A9INY 997 T5W NXIY %33 (30 MIvn T PI9) PPYINT [NNSDINA]
In the Xn2on of PP9%w2n Noon regarding a bowl that rainwater was dripping into
it -

= 9215 2111 952 NT 19N IMIN INNPY N2

'3 rules that this water is included in 3n° %2 (if it will be placed), etc. and the food

in the bowl is XMWY 22p% w7, and 7"2 maintains they are not W -
= 99N 234 9927 31N 93 N1 Y9N DI Y91 NNNLA YAN NNV DIININ D927 INa

When is there this dispute (between 7"21 w"2) when the 727y was a 7917,
however if the 72°7v was a fIR»w, all agree that these foods are included in the 3
1N (meaning they are I8 %25 W [because (even according to i1"2) the 72w
TRAY is 2°wnn the 777 to be °won]), these are the words of %' -

= NNV HNNIY NNV HNN 9N Y0 29
"' however maintains whether the 727V is a aX%»w or whether it is a 797, the

dispute remains -
£ 993 Y3ONR DYININ YHN 5153) 1N 993 DIININ INPY N2

!'In our XnooMN it is in 2"7 2"s.
2 The 710 writes in (72,8 [2mw] X7p7) that a0 X3 Xnv 12y anban 2931 v v 0 ja° 7). This is a source for the laws
of nxmW 2% 7w, The 770 spells the word 10° which would read ‘he places’ (meaning that a person has to wet the
food); however the *7p is ,'i1m' “if it is placed’ (meaning even if the food became wet without human intervention it is
also AR 93P Wwom). The 0on expounded this to mean that it need not be placed by a person, but the person must
be pleased with the fruit becoming wet. The dispute between 17"21 "2 is whether in this case the person is 7% X1 or
not. See there in the Xno0In that the nP17nn is where 199w 17031, he intended to pour out this rainwater.
3 The nxnv 727 is 2w the 597 to be 7°won the food.
4 According to 7" a ¥nv *93 is wnn the Tpwn to be 1Wan (even according to 7"2), however "7 maintains that a 23
RnY is not 2°wnn the apwn to be won (according to 17"2 [whom we follow]); these are the two 7"n in our X3, See
‘Thinking it over’.
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w''2 maintains it is 30 922 (the food is XML 22p% W), while 17''2 maintains it
is not 30 923 (the foods were not ARAY H2p WIM).

Summary
n"7 maintains 7pWwn 2w XAV °93, while >'"1 maintains pWwn 2WIT 1K RAY 9.

Thinking it over

The X%, after it answered that it is a 71712 that perhaps nIRn“w M9IP2 17X, asked
2"R7 DY PR TN ROR L PPWR 2w 8w 09 1" &1, However mooin has just shown
that according to w"a both >"1 "9 agree that 3pwn 2w &nv °75,° and this 77713 of
777032 7782 was made by Rnw; so what is the question 9"R» according to 71", since
here we are following w"2?!°

5 See footnote # 4.
6 See o°now pnn.
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